YJ&R Landscaping

Bid Contact **Rajendra Bharat F**rajbharat1@att.net F
Ph 954-854-7593 F

ddress T**9430 S.W 18 STF Miramar, FL 33025F**

Item #F	Line Item	NotesF	Unit Price F y/UnitF	Total Price (Attch.F	Docs
BLD2124731B1-01-01	Item Lot:T BrowardT Central Bus erminal,T Downtown,T DailyT	SupplierF ProductF Code:F PercentageF of PriceF AttributedF o LaborF Portion ofF Service: 60	First Offer - \$460.00 F 1095 / dayT	\$503,700.00 F	YF
BLD2124731B1-01-02	Item Lot: West Regional BusT erminal,T WeeklyT		First Offer - \$575.00 F 156 / weekT	\$89,700.00 F	YF
BLD2124731B1-01-03	Item Lot:T Northeast nsit CenterT Bus Terminal,T WeeklyT	SupplierF ProductF Code:F PercentageF of PriceF AttributedF o LaborF Portion ofF Service: 60T	irst Offer - \$700.00 F 156 / weekT	\$109,200.00 F	YF
BLD2124731B1-01-04	Item Lot:T LauderhillT M Il TransitT Center Bus erminal,T WeeklyT	SupplierF ProductF Code:F PercentageF of PriceF AttributedF o LaborF Portion ofF Service 80	First Offer - \$1,250.00 F 156 / weekT	\$195,000.00 F	YF
BLD2124731B1-01-05	•	SupplierF ProductF Code:	First Offer - \$7,000.00 F 12 / quarterT	\$84,000.00 F	YF

	County Commissioners			EXHIBIT 2			
	Center Eastm Garage,m Quarterly m	Percentage, Price, ttributed, to Labor, Portion of, Service 60m			Page 2 of 4		
BLD2124731B1-01-06	Item Lot:m overnmentm Center East,m 1200 Garage,n Semi Annual n	Product, Code:, Percentage, Price,	First Offer - \$	\$28,000.00 m 6 / semi annualm	\$168,000.00 ,	Υ,	
BLD2124731B1-01-07	mImportedm Item Lot:m overnmentaln Center Westm arage, Semim Annualm	Product, Code:, Percentage,	First Offer -	\$9,000.00 m 6 / semi annualm	\$54,000.00,	Y,	
BLD2124731B1-01-08	mImportedm Item Lot: West Regionalm Librarym arage, Semim Annualm	Product, Code:, Percentage,	First Offer -	\$5,000.00 m 6 / semi annualm	\$30,000.00 ,	Υ,	
BLD2124731B1-01-09	mImportedm Item Lot:m Edgar P. Millsn Centerm arage, Semim Annualm	Product, Code:, Percentage,	First Offer -	\$4,600.00 m 6 / semi annualm	\$27,600.00,	Υ,	
BLD2124731B1-01-10	mImportedm Item Lot:m Southm Regionalm Courthousem arage, Semim Annualm	•	First Offer -	\$4,500.00 m 6 / semi annualm	\$27,000.00,	Υ,	

EXHIBIT 2 Page 3 of 4

Portion of rvice0: 60u

BLD2124731B1-01-11	u Importedu Item Lot:u Transit OΜ South Parking Garage, Semiu Annualu	Percentage0	First Offer - \$4,40 .0 u 6 / semi annualu	\$26,40	.0	0 Y0
	u Importedu Item Lot: BCu J dicialu Complex Eastu Parkingu Garage, Semiu Annualu	Product0 Code:0 Percentage0 of Price0	First Offer - \$28,50 .0 u 6 / semi annualu	\$171,0	.0	O YO
	u Importedu Item Lot: BCu J dicialu Complex South Parking Garage, Semiu Annualu	Code:0 Percentage0 of Price0	First Offer - \$19,0 . u 6 / semi annual	\$114,0	.0	0 Y0
	u Importedu Item Lot:u Pressureu Cleaning,u Additionalu Services, Flatu Surfaceu 25,000 sq. ftu and under u	to Labor0	First Offer - \$0.04 u 1950000 / square footu	\$78,0	.0	0 Y0
	u Importedu Item Lot:u Pressureu Cleaning,u Additionalu Services, Flatu Surfaceu 25,001 sq. ftu and overu	to Labor0	First Offer - \$0.05 u 4500000 / square footu s	\$225,0	.0	0 Y0

Broward County Board of County Commissioners

BLD2124731B1

BLD2124731B1-01-	Item Lot:, Pressure, Cleaning, Additional, Services, Structures 1, ft. high thru, 17 ft. high,	Supplier1, Product1 e:, Percentage1 f Price1 Attributed1 Labor1 Portion of1 Service, 100,	County Commissioners First Offer - \$0.01,	525000 / square foot,	5,250.00	EXHIBIT 2 Page 4 of 4	Y
BLD2124731B1-01-	I7 , Imported, Item Lot:, Pressure, Cleaning, Additional, Services, Structures, over 17 ft., high ,	Supplier1 , Product1 e: , Percentage1 f Price1 Attributed1 Labor1 Portion of1 Service, 100,	First Offer - \$0.01 ,	1950000 / square foot	, \$19,500. 0	О,	Y1
Bid Allowance1		1	\$41,250.00,				
,	ī	,		Lot Total ,	\$1,927,350.0	0 1′′′	
, , ,	r			Sup	oplier Total 🙎	51,927,350.	001 1